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Al 20,998
siE ZSHY NIHA SsAP(BX) (&) (H 111,948 114,108 22,160
EHAY)
< 93,290
Al 18,658
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< 135,000
Al 54,000
EEZEC XIAANL(BEX)(Me)(HEAY) 12,857 38,572 225,715
< 10,714
Al 2,143
402 RI2tXt20l ™ 12,857 8,572 4,285
< 10,714
Al 2,143
02 2IZt 2 AL EZ (OIS ) 12,857 8,572 4,285
OZREEE AR2 HIEa2A X&A(7,143,000
2 +35 *60%) 12,857




SH RO D

MM = WA A
ool sM2RSEAE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 10,714
Al 2,143
2HUIZC XA (EX) 11,340 11,340 0
== 4,860
Al 6,480
307 2Iz2t0| A 11,340 11,340 0
= 4,860
Al 6,480
02 QI AAIE E X 11,340 11,340 0]
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Osledel SX2el 20,000,000& *98.92% 19,784
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O=SgE&EIotz A&l 20,000,000 x1.08% 216
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Ot AIE8UsHtAdE2, 3)|=&H) XA 260,000
DEZE W==Ma XA 615,000 615,000 0




2N
X ZH -
L= B

el

- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
402 SI2FXHE0| M 615,000 615,000 0
01 SIZEXIEANSEXR (MMM E) 615,000 615,000 0
Otz U=2A ANEATYHON X
26,000,000 x20CH *50% 260,000
Ol DAXAX XS
16,000, 0002 *30CH *50% 240,000
Ol Yol Xsg 220 A& 60,000
Ol Meulof olgxs 55,000
ESHNZE MASR 50,000 50,000 0
402 SI2FXHE0| ™ 50,000 50,000 0
01 QI EANSEXZ (M) 50,000 50,000 0
OoxlAs (Eg2- 0182 4 K™
2,500& *40,000m* x50% 50,000
DB EAILS S 142,772 165,750 N22,978
J| 57,109
= 25,699
Al 59,964
402 SI2t 20| & 142,772 165,750 N22,978
J| 57,109
= 25,699
Al 59,964
02 QX2 A E X (0| XM THSH) 142,772 165,750 A22,978
OFTAZtE DEZE U3 142,772
J| 57,109
= 25,699
Al 59,964
AMBMACIDIBIFEA 1,573,435 493,750 1,079,685
J| ,259,000
Al 314,435
403 XX SHHS K20 & 1,573,435 493,750 1,079,685
J| ,259,000
Al 314,435
02 BI2SHUSXA2ERAEAISHI ,573,435 493,750 1,079,685
OFTAZMAI M AP BFAHI (0L 2K 7) ,150,935
J| 921,000
Al 229,935
OFTATL A M A | BHEH| (22X F) 422,500
J| 338,000
Al 84,500
SNSANEEHUS N (SSHS(Q) MAAIA 50,250 125,690 NT5,440
CH &)
J| 20,100
Al 30,150
402 SI2FXHE0| & 50,250 125,690 ANT5,440
J| 20,100




SH RO D

g =g ¥y &
SRl BASHMN IR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 30,150
02 U EALEZ(0IETHR) 50,250 125,690 AT5,440
OSSHS(UY)HLMALSHUS 50,250
J| 20,100
Al 30,150
FTAZb =AY A28 2 22| 15,650 25,900 210,250
J| 15,650
307 21201 A 15,650 21,900 26,250
J| 15,650
02 QB AAFEX 15,650 21,900 26,250
OFTA t== A 22| I 2,650
J| 2,650
020214 Dt=HXEIL QHEIS (D=4t OHA
g2 2 ns) 13,000
J| 13,000
Fls&=S AL - 2l XA 128,000 0 128,000
< 64,000
Al 64,000
402 2I2H X201 M 128,000 0 128,000
< 64,000
Al 64,000
02 QI 2 A EZ(OI X TH ) 128,000 0 128,000
OJlseE Ald - ZHl XJ AL 128,000
< 64,000
Al 64,000
e sgsey 5,544,484 6,561,148 A 1,016,664
= 746,241
< 325,196
Al 4,473,047
A sHA= 116,110 109, 556 6,554
= 116,110
301 LEAZ 116,110 109, 556 6,554
= 116,110
12JIEE4d= 116,110 109, 556 6,554
Odadsgy A== NEAY 116,110,000 116,110
= 116,110
SIZUZXNE(HEAY) 2,511,283 3,579,440 A 1,068,157
402 RIZ2EXt20l ™ 2,511,283 3,579,440 A 1,068, 157
02 QI2t X2 AL E X (01X THE) 2,511,283 3,195,440 A 684,157
ORINEHIE NAAY (&EH 2,511,283
CRIS VDTS 803,261 1,015,420 ~212,159
2 536,723
< 133,269
Al 133,269




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| M 803,261 1,015,420 A212,159
= 536,723
& 133,269
Al 133,269
02 CIZEXIE A EX (0| XM THL) 803,261 1,015,420 A212,159
OELMM XA 803,261
= 536,723
= 133,269
Al 133,269
A HAXK(KA) 813,000 436,000 377,000
307 gizto| A 23,000 30,000 7,000
02 Q2B AMAIE E =X 23,000 30,000 AT7,000
OXSAN A2 SZ20UH NRAY
1,000 46,0000} OF*50% 23,000
402 12V XHE0| & 790,000 406,000 384,000
01 NI E AL EXR (M) 790,000 406,000 384,000
Oz =4 KNSAFS
2,000,000& x200ha*50% 200,000
OFSASAS MAD|E S KA
1,000, 000€ *200ha*50% 100,000
OEH2& 245 HZH X 56,000
QA (== sIIH XFAY 50,000
OKJIZHIZ XA (AH F=I12) 384,000
AEAd=sHE MG (EX) 242,370 222,523 19,847
= 72,707
Al 169,663
201 et 1,216 1,129 87
= 364
Al 852
02 232%H4| 1,216 1,129 87
OF&d KFIIsg 4 XA 1,216
o=t 364
Al 852
202 o4 | 1,624 2,391 NT67
= 486
Al 1,138
01 2L HI 1,624 2,391 NT67
OrEd RII=sg 4 NIAL 1,624
= 486
Al 1,138
301 LEtE M= 239,530 219,003 20,527
& 71,857
Al 167,673
12 JIEtE A= 239,530 219,003 20,527




A F0aS

SH: s AW 23
©el: HBRSUSY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OFSH=SAME 2SHIE XNSFAY 115,090
=} 34,527
Al 80,563
OF&AH FIIsg 4 ANSALY 124,440
&< 37,330
Al 87,110
ANEASMESRE(EX) 176,660 204,534 N27,874
= 52,020
Al 124,640
307 2Iz2t0| & 176,660 204,534 N27,874
= 52,020
Al 124,640
02 QI AAIE E X 176,660 204,534 N27,874
OFsAHASME KSAH OHIAHE X 176,660
& 52,020
Al 124,640
GAP Ot A 2MXIKA(EX) 55,000 60,000 25,000
= 27,500
& 8,250
Al 19,250
201 gEt24Hy| 15,000 20,000 25,000
= 7,500
= 2,250
Al 5,250
01 AP 22| d| 15,000 20,000 A5,000
OGAP EQ/24 MY 2AXSE 15,000
= 7,500
o 2,250
Al 5,250
301 et M= 40,000 40,000 0]
= 20,000
o= 6,000
Al 14,000
12 JIEtE &= 40,000 40,000 0
OGAP QIS =0 ot M HAHHl XI& AL 40,000
= 20,000
= 6,000
Al 14,000
AsA=sA& e (KHA) 8,850 8,850 0
202 04| 2,850 2,850 0
01 2Ll 2,850 2,850 0
OrestAEA=sY A2=X HH(FAE S) 2,850
301 et M= 3,000 3,000 0
09 #HAIAHI XIS 2 3,000 3,000 0
OXBA=Y(5Y) DA
30,000& x23| *50H 3,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,000 3,000 0
12 QIO & = H| 3,000 3,000 0
OEd RIIsgd d2us
100,000& »15H »23| 3,000
I =sLUMAA(EX) 13,570 18,000 A 4,430
= 5,428
Al 8,142
402 RI2EX 20| ™ 13,570 18,000 A 4,430
= 5,428
Al 8,142
02 2IZE 2 AL EZ (OIS ) 13,570 18,000 A4,430
ORIIsLAM X3 A 13,570
= 5,428
Al 8,142
Ed=sg AdIe RIEHZE X2 600,000 600,000 0
301 LEXZ 600,000 600,000 0
12 JIEEd = 600,000 600,000 0
OZgZdsg Adlg |IIZHE X
300& *2,000, 000 x100% 600,000
SgFEe s X2 4,260 13,200 A 8,940
S 1,278
Al 2,982
402 RI2HX=01 M 4,260 13,200 A 8,940
< 1,278
Al 2,982
02 QIZEHEASEZ (01X TS ) 4,260 13,200 A 8,940
ogdzsd s X 4,260
< 1,278
Al 2,982
GAP &L AtHl XI& 10,000 50,000 240,000
= 5,000
Al 5,000
301 LPEXZ 10,000 50,000 A 40,000
< 5,000
Al 5,000
12JIEBE43 10,000 50,000 240,000
OGAP 21EZ alAHHl X & 10,000
< 5,000
Al 5,000
B =sL X2 (01H) 137,160 90,860 46,300
= 60,480
< 23,004
Al 53,676
307 21201 A 137,160 90,860 46,300
= 60,480




A F0aS

SH: s AW 23
©el: HBRSUSY CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 23,004
Al 53,676
02 QIZ2IA AAIE E X 137,160 90, 860 46,300
OF&sE 3U=sF 4 XA 16,200
= 4,860
Al 11,340
OYNT RNetASAE H=RH0| NSAS 120,960
= 60,480
= 18,144
Al 42,336
HNEASHME ELS2CH2US XA (HEBAS) 42,400 132,765 A 90,365
= 26,500
Al 15,900
402 SI2FXHE0| & 42,400 132,765 A 90,365
= 26,500
Al 15,900
02 SIZEXIE A EX (0| XM THL) 42,400 132,765 A 90,365
OFSHASAME BES02LS NSAY 42,400
= 26,500
Al 15,900
AEetAd=g J=dE B3 ALY 10,560 0 10,560
= 3,168
Al 7,392
307 QI2t0| & 10,560 0 10,560
= 3,168
Al 7,392
02 QI2tAAMAIE E =X 10,560 0 10,560
OrstAEA=Y JI=sdHE EZAMY 10,560
= 3,168
Al 7,392
wWEseEx &= 2,663,216 2,557,251 105,965
= 1,171,899
Al 1,491,317
sStgAl XS 2,663,216 2,557,251 105,965
o=t 1,171,899
Al 1,491,317
stngal XN (EX) 2,483,336 2,384,781 98,555
o 1,163,826
Al 1,319,510
307 212t0| & 16,088 14,746 1,342
= 4,825
Al 11,263
02 QIZEZAAIE 2 X 16,088 14,746 1,342
Q&AM 210l A XA (11HA, 650
H) 6,864
= 2,059




AN E0AS D
Iy DREX 25
chel: S DA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 4,805
O34z s¢ts RSN 9,224
< 2,766
Al 6,458
308 XtXIEHHSOIA 2,467,248 2,370,035 97,213
= 1,159,001
Al 1,308,247
08 WISt E=x 2,467,248 2,370,035 97,213
OFgtZsite stug A NN (774, 7,85
3%) 293,104
< 137,933
Al 155,171
Ostw &zl X (504, 6,749Y) 2,174,144
< 1,021,068
Al 1,153,076
st A K2 (XRHA) 82,970 82,970 0
201 Let249] 1,260 1,260 0
01 At 22l 1,260 1,260 0
OBRIAXEA MoIAS BA2g
70,0003 x9H +23| 1,260
307 21201 A 26,600 26,600 0
02 IZtE S AIHE L 26,600 26,600 0
Offetstn Ragal X&  3,5003 *40E <190 26,600
308 XX EHSOIA 55,110 55,110 0
08 WEIIZ20HStE X 55,110 55,110 0
OstuzA s&et X2 (771w, 8,031Y) 55,110
StusgAMKRsSIHE 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 HAFHAANFEE 20,000 20,000 0
Ognga ZHEM XI& 40,000,000& *50% 20,000
SSsARENE 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 IS AHEL 50,000 50,000 0
OSs44 BTZ4 RENVAMY
400,000& «200&! *50% 40,000
OSs4d 2T24 IZW N
20,000,000& *50% 10,000
S2S4 g (EX) 26,910 19,500 7,410
< 8,073
Al 18,837
307 21201 A 26,910 19,500 7,410
< 8,073
Al 18,837
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EXN: S0 AS D}
Iy DREX 25
chel: St AK (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 26,910 19,500 7,410
OSSN ZB34 AFSAAY N
130, 000& 207 3| 26,910
& 8,073
Al 18,837
HAESHAY (KAL) 84,992 88,292 A 3,300
JlE&ddl 84,992 88,292 A 3,300
Jl2 &l 84,992 88,292 A 3,300
201 et 9| 40,912 44,612 A 3,700
01 AF 2t 2| H| 40,912 44,612 AN 3,700
Ogttf=2y| 25,000
O3 &l 8,832
Oslggel A 60,000& 118 7,080
202 o4 | 39,480 39,480 0
01 2L HI 25,080 25,080 0
OdagY 28 oyl 25,080
02 EHNHI 14,400 14,400 0
OdlEge| HAY| 200,0008 6 x12& 14,400
203 R F&d| 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
OBN2gIRF=&| 4,200
405 XHAHFIEHI 400 0 400
01 XA 2 Z F S| 400 0 400
Oolgolz 2 X9 At 40,000& 104 400




